TH2EEEIES V8 —F Y bVEZF—TF U7r—FRE
MEEIEX] [RETHELLLK TBSERY—EXBRE] 221T

mo—3
flo—3 MEDEHES
N=99
Bl BT [EEEES mEH mE Lt E
1. &y 6] 56.6% -
2. ts:stgi_ﬁtﬂ 40 40_4% w9 % 97.0%
3. OOERCHL 2 2.0% -
IR ; T ERETHL 3 3.0%
BIER - thE
147 ElES ESES 2%
54 45 99
1. @y 32]_59.3% 24]_53.3% 56] 56 6%
2. FELREY T9[_35. 2% 21| 46 1% 40|40 4%
3. OOERCHL 23 7% o_o0.0% 22 0%
4. EETEL T_1.0% o_o.o% T 1.0%

m B mzi mek

2. pHLREY)

3. PREETHEL

4. EHETHL

0.0% 10.0% 20.0% 30.0% 40.0% 50.0% 60.0% 70.0% 80.0% 90.0% 100.0%
EEL

3-44



EER - &

1R 20K | 20t | 30mft | 40 | 50&fX [ 60 [ J0mLIE

0 3 8 17 26 15 30

(1. @9 O[0.0% 2]66. 7%] 6]7/5.0%] 10]58.8%] 13]50.0%  9]60.0%] 16]53.3%

2. hbLhEy] 0]0.0%] 1]33.3%] — 2]25.0%]  7[41.2%] 10[38.5%] 6]40.0%] 14]46.7%

3. OPERCREL 0[0.0%  0[0.0%] 0[0.0%] 0]0.0% 2[7.7% 0[0.0%] 0[0.0%

4. IEECHL 0]0.0%  0[0.0% 0[0.0% 0J0.0% 1]3.8% 0]0.0% 0]0.0%

W20FERTE  m205RfE  w305Rft m40RRft ms0REft meoRft m7oRM b
1. @9
2. BHLLEY
3. PREETHRL
4. EBETHUL
0.0% 10.0% 20.0% 30.0% 40.0% 50.0% 60.0% 70.0% 80.0% 90.0% 100.0%
Bl &Lt

3-45



